SOLUTTONS
MA 214—04 ' More on Power Series the front

1. Given the differential.equation y"=xy'—y =0, assume the solution can be written in the
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2. Determine a lower bound for the radius of convergence of a series solution about each x,
~ for the differential equation (x2 —2x- 3) Y +xy'+4y=0.
a. x,=4
b. x,=-4 A
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3. Determine a lower bound for the radius of convergence of a series solution about each x,
for the differential equation (1+x2) Y'+2x) +4x*y =0.
a. x,=0
b. x,=-1
Pyain, There ave DO L0 wiwor) factors.
plx) = 1143, | .,
o) =0 B xP=-l DAL
(a) Both | mwd ~i we af Aistanice
! gr’@?m ,y 0. Thws | {s The Joner
b o fff;j;f tre radins of comvergurice
and Fhe sewies solution relll 40”’*’%5&
For Ix) <1, ; ‘ b ¥
a5 ¥ 7 ‘g
(b) - Distame Frevm “ih +o i 1 Je sumt " a }i%}«s;m{;’;
N — Nry Lot c of
e = 4 =A% =\22 | & g, oS
convor)’t

The sevies solutlon will comenye in (-If; - “/g/ag atAs)y )



